11CS30032 Satya Prakash Wednesday, 6 November 2013
Compiler Scribe Report

Semantic Rule

L= new Label()
B S.next=L

B.true = new Label()

Sy B.false= S.next
S.code= B.code Il Label(B.true) Il Sy.code
P.code= S.code Il Label(L)
id = E.addr
B -> B4lIB2 | B1&&B2 | !B+
B -> E1 relop E»

relop>==I>=l<=1>I<

if E1 relop E2

goto B.true
goto B.false B
B->Bll B2

B1.true = B.True
B1.false= new Label B1 B2
B.true = B.true

B..false =B.false

B.code = Bi.code Il Label(B1.false) Il B2.code
if x>100 Il x<150
x=0



11CS30032 Satya Prakash

L1= new Label()
S.next = L4
Lo=new Label()
B.true =Lz
B.false=S.next
Bi.true=L>
Ls=new Label()
Bi.false=Ls
Ba.true=L3

Bo.false=L1

B1.code = if (x>100) goto Bs.true

goto L3

Bo.code = if (x<150) goto B.true L»

goto L+

B.code = Bi.code Il Label(Ls) Il Bo.code

= if (x>100) goto Lo
goto Ls
= if(x<150) goto Lo

goto L+

Si.code=x=0

S.code = B.code Il Label(B.true) Il Sy.code
if(x>100) goto L>

goto Ls

Ls : if(x<150) goto Lo
goto L4

Lo 1 x=0

L+
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if (x+y >100 && x-y <150)
x=5

B=B1&&B:>

E=E+E>

B.code = Ej.code Il E2.code
if ti>t2 goto B.true

goto B.false

Ei.code=E2.code Il Es.code

E1.addr=t1

E>.code = t2=100
Eo..addr=t-

B1.true = new Label = L3

B1.false= B.false =S.next

B2.true=B.true=L1

B2.false=B.false

B.code =B1.code Il Label (B1.true) Il B2.code
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B -> B+

|B1 B.code = B4.code

B1.false=B.true

B1.true=B.false

B.false

S > if (B) Sy

else So

S.next

006

B.true= new Label()=L1
B.false = new Label() =L2
S1.next = Sz.next = S.next

S.code= B.code Il Label(B.true) Il Si.code Il goto(s,next) Il Label(B.false) Il So.code

S 7 )

S -> while(B) Sy { 5 A

\_ J

4 N
begin= new Label S4
B.true = new Label()

\_ J
B.false = S.next

- J

S1.next=begin

S.code=Label(begin) Il B.code Il Label (B.true) Il S1.code Il goto (begin)
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1. if (x+y > 2)
y=y+1
else
y=y-1
2. while (x >y+2)
y=y+1

Declarations :

P->D

int a;
D->Tid float b;
T->BC int [10] c;
B ->int | float
C>e
C->[num] C



